A STEET gl ARG S 30 & (9B & [T e B,
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SICE LY

UNIT-IIl / SNl

Describe the changing concepts of development in
detail. [10]

foepra o SEAdl STaERETSTt @ Tl w9 FiR

Explain the need and importance of human centred

development in present scenario. [10]

TN URSE | UM BhRd [GEE H STEEEd 1E
e A Hi

UNITIV / SHF-IV

What do you understand by Human Resource
Development ? Discuss its importance in Indian

context. [10]

g GOEN O | oY o gHe § P 9Rg @ ded
% TO% Hed Bl T B

Describe Human Development Index and it's indicators
in detail. [10]
A [ i U 56 gEh B OER 9§ due
it
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Answer five questions in all. Question No. 1 is
compulsory. Besides this, attempt one question from

each unit.

FA GF S d I AP g |, 1 SAFER R
EH% OTAE], T S5 o U U9 i)

Write short notes on the following : [3x10=30]
frfoiga o) @t feformt R :
(a) Define growth with example.

e @ eI ded aRwia ST

(b) What do you understand by Economic

Development ?

anfdies foehre @ o9 @ gwer § °
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(c)

(d)

(e)

(f)

(9

(h)

(i)

7538/100

Coale and Hoover's study of Population.

hicl T BaX 1 SEEA] FEHTH|
Welfare approach

HATOTH SUH

Linkage between Population and Development
SIS T fahE § qey

Concept of Demographic dividend.
STeifehehid T &l STEERM|
Investment in Human Capital approach
TMa Ooit 7 e Sarm

Human Poverty Index (HPI)

ud TS e (HPI)

Gender Development Index (GDI)
o e el

Sex ratio

SIERCE IRl
(2)
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UNITH / -1

Define development and discuss it's economic

determinants. [10]

fore @ aRWE @i o gas onfi¥ies e @
T4 HiTg)

What is the difference between growth and
development ? Describe social and economic indicators

of development. [10]

foreprer wdf wgfes § 1 ORI © 7 e & @i T
A Gl & ol i

UNIT-I / -1l

"Population growth is conductive to development.”
Explain views of Colin Clarke, Ester Boserup and Julian

Simon in this context. [10]

‘S gfs e @ e O 817 3w |
I oeleh, $EX AT TG Sforde qEAT & o=
S HiT

If population growth is an obstacle to development of
countries like India ; Give your opinion and strategy to

solve this problem. [10]
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